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LESSON 2 SUPPLEMENTAL WORKSHEET A 

 

3 + 3 =          1 + 4 =   2 + 4 =   5 + 1 =  3 + 2 = 

1 + 3 =   4 + 2 =  6 + 0 =   3 + 3 =           2 + 4 = 

6 – 5 =  6 – 3 =  6 – 1 =    6 – 2 =            5 – 4 = 

5 – 2 =  5 – 1 =   6 – 4 =   5 – 2 =           5 – 3 = 

 

Kelly hid 6 colored eggs around the house.  Joseph found 3 of them.  How many eggs 

are still hidden? 

Is 6 an even number or an odd number? 

I am going to buy a cheeseburger for 4 dollars and a bottle of water for 2 dollars.  

How much will that cost all together? 

Rebecca scored 5 points for the team and Sandy scored 1 point.  How many points 

do Sandy and Rebecca’s team have all together? 

Josie has 6 dollars.  She spends 4 dollars at the store.  How many dollars does she 

have now? 

Maggie picked a flower with 6 pedals on it.  She picked off 3 of them.  How many 

pedals are on the flower now? 

A bus is carrying 2 kids and 1 bus driver.  The bus stops and picks up 2 more people.  

What is the total number of people on the bus now? 

Dianna had 6 cookies in a baggie.  She ate 2 of them and then gave 1 to her daughter.  

How many cookies are left in the baggie? 

This morning I had 6 dollars in my wallet.  I went to the store and spent 4 dollars.  I 

got home, and my Grandma gave me 2 dollars.  How much money do I have now? 

 



 


